Rio Salado’s Online College Algebra Accuplacer Review Questions (2013-2014)

#1. Teresa has 5 shirts, 3 pairs of shorts and 2 hats. How many different outfits can she wear consisting of one
of each?

o 2 = 39
WA @O; C) 60 D) 14 E) 1% S «3 2 = 2

#2a. Factor: 25a° -9b> = (3"432'(35)1-' (gf‘?’“(‘m%;;éx ke
A) 16a’b’ B) (5a+3b)" c) (5a-3b)’ D) (25a—9b)(25a+9b) @(Sa—sb)(5a+3b) [

#2b. Factor: (x+2) = (x+2)" —loy = = (xz-2) (4 2+23)
u) (x+2—2y l(x+2+2y ’ B) (x+2—2y) C) (x+2—4y)(x+2+4y)
D) (x+2+2y)’ E) x* +4-4y’
op _ b
#3. In the right triangle shown, sin6 = h‘i’ = &
A Bj & o ~igpl i A E) >
c a c \
b o
a o4
#4a. A rectangular room has dimensions as shown: 12’
What is its perimeter in feet? . )f
A d4-x—y B 2+x+y 044 ) 4 ) &
X
D) 44+x+y E) 22—(x+y)
= |’z+:o+\<+j+ lo—y+i2 5 T y
P, 4 (17_—)(')

#4b. A rectangular room has dimensions x+4 by x—3. What is its area in terms of x?
AP -—xt12 B x*-12  C) 2x+l D) 4x+2 B tx-12 ] (¢

XEeX-12
#5a. 2 = _.é '-—\—: o ,?‘—' — Zgaély
cos2x V Gesix { \
1 : | 1
A) tan2x |B) ZSCCZX.S —secx D) sin2x E) —cos2x
2 2
pop, —2 - T L o T eed o 2hu3s-

cot30 | b3 | /

A) 2sin36 B) ta11239 C) 26259 D) 2tan 36 E) 6tand




b .
__,-r6. If a= -2~v, what is the value of 4((1 + 1)2 interms of 67

‘ Py b
A 2Dt =l (5 f“("ﬁe shei)

= bEpyb

A) 267 +4b+4 B) h*+2b+1 C) 46> +2b+4 D) 2b° +2b+1 | E) b2+4b4ﬂ
12 A - ! - Az
. = — = = ol 2‘ ,—“‘/
#7.1f tan @ 5 , then secf= """ 7“’“““‘“““% = MQ}” 12
5 3 ] 13 12 5 e off
A} — B) — C) — D) — E) — P .
12 5 12 13 13 P
q;{"’) 5‘“
a+b+c=7 T 2aHb+] =1
H8. Wig+c=2 ,'ghat isthe valueof a? - b M’j’r#ﬁf
2a+b+c=11- & =Y
A} 5 B) 3 C) -2 D) 7 7@ 4
‘ 7)) (375
4o, Simplify: |9 =30+2) [a+2 1 o (ﬁ’fmi(@ﬁw Fariasty T
' Py a—1 a*—4 é‘%‘ﬁﬁ} o
a+2 3a+2 a—2 -
A B Cla D E)1 ;
) a-2 ) a—2 ) ) a+2 {wa
2, -
By 2.2 A%y . -
#10. If —3p{x*y?),then p= TG~ '
2] gl hen b= 53
3t 0 =2 g3
zZ
{1 o

H1 0 f() =0 -3 then ()= (-2 F-F T

A4 B3 Q)2 D) 1 @

#12. If [3x—5]=10, then x=

A)S50r—5 . B) —% only (ﬂ—%’j D} —53—0nly E) 5only

“ E

3 1 and g(x)=x+1,then f(g(x)) = (¥t T x4 2
x+1
% 3

A) 3x+3 iB) i 0—— D)3  E)3x+l

#13. If f(x)=

x+2 x+1

(S—

IR gD 0 Zx -8 =0
By s e = =T
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#14. What is the domain of g(x)=

- = 2oy (eiicas)
g — x -4
‘_A) x52orx<—2 ‘ B) All Real numbers C) All Real numbers except2 and —2

D) 2<x<2 E) All Real numbers except —2

1

e 4

Sow PN % : WM e— -—
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#15a. If csc@ is undefined, then sin@ is

A) undefined | B) % C)1 }LD)ﬂ E) -1

i

#15 ¢ @ is undefined, then & could not be S O= 3
A) 300° B) 90° C).—90° D) 270° E) 810° .

#16. Which of the following is not in the solutions set of - 3[ 0 %
-p EX=3E
A) 3 B) 4 )1 D). 0 E) 2 4; = ik, A

N <€ RLT

#17. What is the difference between the largest and the smallest y values of the function y = 2sin3x ?

A3 B2 06 E) 1 2(:) =*+%

#18. If a, is a sequence whose n" term is 20V —20) then whatis a,?

A) 32 B) 4 C) 64 D) 8 l Fi 24 7} 2(‘4“‘; a(‘fen: 25-70 _2:

—32-3 =24

#19a. If fis a quadratic function that has zeros that are the same distance in opposite directions from the
origin, which of these is f?

A) x> =2x+1 B) x> +1 C) x* +4x D) x* —x JE)x — {
‘ K4+2)( ¥~ %)

#19b. If fis a quadratic function that has zeros seven units apart, which of these is f?
A) x* —6x—7 B) x* —8x+7 m D) x*—8x+12  E} x*=Tx+6
(\—?)t‘x+r\ (x_,)(y = !x+Ll !'x~3\ (x =) %-2) (x—=1)x-6)
7 ~Y i [ 2 l i
(4=3 A=L) d=) (d =v) (4=

#20a. Which of the following lines has slope 37 ?

A) 4x-3y=1  B)4x+3y=6 IC)3x+4X ] D) 3x—4y=12 E)x+y:~%

j“ -‘j"g

- "&. ) -
\Jﬂ' -=-l=', w o+ (’;.

#20b. Which of the following lines has interceptsat x=3,and y=27?

Iy =2 D) STy =1 ——Ehrry=—
_-_) 2 X~ ;:)— & .‘,"_x"_} EX=y =6 -] > 3x+ Wy=4¢
®="2 r=3 %=

\ > o
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720c Which of the following graphs could represent 3x+2y =127

‘j/
‘ j;,%ﬁ+'é
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#21a. Which of the following functions contai oints (0,1)and(2,1)?
%y=2|x—1| E{y=|x+1| @i|x—l| My=|xm2| )}}/y:|2x-1|

iw{; o (j;jug,cﬁ
#21b. Which of the followmg quadratic functlons contains the points (—2 O and—%

0)?
?({y X +x+6 B)y X —x fj \5)()/ x* +3x -2 M—x +x-6

é)/y=9x2—4

X i L g points? 3’ - Lf}( .
= o
A} (2,8) B) (4.8) ) (1,8) D) (3 , 8) . Z% ={ )
: 3 EBEX  px=E
Z =z x =3
#22b. At which x value(s) does the curve y = x* +2 intersect the line y =67
l : J b=xdt
A) no values B) 4 only C) 4and —4 D) 2and -2 E) 2 only ,; y
o
y = L
é (2’ f}?*f o Eg é‘j% o ﬁ mgﬁ
#23a. If +J_—a b3, thena—b= (odits-iy G T¢ 2
- = 33
A} 6 B) 3 C) 9 D}_EW E) 1 coz bzl
ERt R
#23b. Where it is defined V=2 is equivalent to [{“”Q X )
x—4 T
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#24. Which of the following functions contains the point (%, 2) ? ‘ (‘}
A) y =2sinx l‘B-)’LOSCT Q) y —tanx D) y=2secx E) y=2cotx e
? ) _ 7 3/ }
-\ ? _:.‘ [ “—— {\qﬁf & F
) U'm/ﬂ \ 3 J \ e/
1
#25. kz—]:: ? (- U= )y 2z
k==2 +._ :——'-.'-'l'"_ : = 4 i
- (-0)+7 (-3 ()43 (43
9 [
A) = B) —4 C)5 m E) -5 L w4 Q. -S43
2 2 i | & 2 Y
T e N — e
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#26a. [ contains the points (3, 1) and (l,—3). If /7 istheinverse of ', what is the value of f (f(3))

A
nl gl @ Dl B . ( )
3 3 2

#26b. Alinear function f has slope 2 and y-intercept 3. What are the slope and y-intercept of its inverse f~'?

]. A2

A) —and -3 B) -2 andl C) la.rnd—z D) landl E) -2 and -3 J=2xt=

2 3 2, 2 2 3 x=249+ 2
23_. »x=-3

A =
(j' ?‘}r 2

#27. The line y =3x+1in cts the line y = kx—2 where x =1. What is the value of k ? |
‘j =Y \j—‘ - yi
g-2=H
#28a. If (2+i)(3+i):a+bi,what is the value of a+b? e, e b=
N3 B2 (J0 /] Dis 8o b B He
N ‘;'r Y43 -2
#28b. If (3+j)2 =a+bi, whatis the value of a+5b? T, ~
A) 15 B) 8 4 D) 14 / E) 16 |
— ) To5 946 =07

#29a. Mary’s age now is 6 years more than twice the sum of the ages of her two children. In 3 years her age

will be 22 years less than three times the sum of their ages. How old is Mary now?
lA) 32 / B) 35 € 27 D) 29 E) 26 -

#29b. If Tanya could increase her running speed by 1 mph, she could complete a six mile race in 18 minutes

less time, What is her current rate in mph?
[}tﬁ B)S 035 D45 )3 4

#30a. If x—3 isafactorof x° +bx* -9, then b =

A9 Bl -3 @ E) 3 =2

#30b. If 2x’ —cx+3 isdivided by x+ 2, the remainder is —3. What is the value of ¢ ?

lA?S ) B)3 Q1 D) 2 E) -3 =
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Rio Salado’s Online College Algebra Accuplacer Review Questions (2013-2014)

#1. Teresa has 5 shirts, 3 pairs of shorts and 2 hats. How many different outfits can she wear consisting of one
of each? |

A) 45 B}30 ()60 D)14  E)11
#2a. Factor: 25q¢° —9b°
A) 16a°p° B) (Sa+3b)’ C) (5a-3bY D) (25a-9b)(25a +9b) E) (5a—-3b)(5a+3b)

#2b. Factor: (Jc+2)2~4y2
A) (x+2-2y}x+2+2y)
D) (x+2+2y)"

B) (x+2~2y)2 C) (x+2—4y)(x+2+4y)

E) x* +4-4y7

#3. In the right triangle shown, sin@ =
b

NE gl g2 i gt

b ¢ a c b b

a

#4a. A rectangular room has dimensions as shown: 12
What is its perimeter in feet?

A) 44—x—y B) 22+ x+ y C) 44 ) .

X
D) 44+x+y E) 22-(x+y) o
I

#4b. A rectangular room has dimensions x+4 by x—3. What is its area in terms of x ?

A x*—x+12 B) x* 12 C) 2x +1 D) d4x+2 ) xl+x-12
#i5a. 2 =
cOs2x
i ) 1
A} tan 2x B} 2sec2x C) Esecx D) sinZx E) ;cos 2x
#5b. 2 =
cot 3¢
) asinig gy 30y 2eost D) 2tan3¢ ) Gtan0

2 3




#6.if o= 5 what is the value of 4(a +1)2 interms of &7
A) 2b° +4b+ 4

B) b* +2h+1 C) 40> +2b+ 4

#7.1f tant9=l?2,then secH =

n3 gl gB 2 s
12 5 12 13 13
a+b+ec=7

H8. If ca+c=2 , What is the value of @ ?
2a+b+c=11
A) 5 B) 3 ) -2 D) 7 E) 4
a*~3a+2 a+?2
#9. Simplify: o
Py [ a—1 J (a2—4J
A) a+?2 B) 3a+2 O a D) a—2 £)1
a-2 a—2 a+2
3 A
#10. If [ xy) =-3p(x%?), then p=
z
A) 1; B) 3z* c) “—f D} “3fy E) 3z
z z zZ
11, If f(x):x‘ﬂ’— 1) ,then f 1)_
A) 4 B} 3 C) 2 D) 1 E) 0
#12. If I3x—5‘ =10, then x =
. 5 S 5
A) Sor—5 B) 3 onlv C} S50r—= D) —only
#13. If f(x) = " and g(x):x—%i,rhe::_,’"(g(.\’))
X+
3 3 i
A) 3x+3 B) C) D)3 £) 3x+1
) x+2 x+1

D) 2b° +2b+1

E) Sanlv

E) B +4b+4




#14. What is the domain of g(x)= \/Ji
x' -4
A x>20rx <=2 B) Ali Real numbers C) AllReal numbers except 2 and -2
D} 2<x<2 E} All Real numbers except —2

#15a. If cscd is undefined, then sin@ is

A) undefined B) % 01 D) O E) -1

#15b. If secé is undefined, then & could not be
A} 300° B) 90° C) ~90° D) 270° E} 810°

#16. Which of the following is not in the solutions set of |x—3! <27
A} 3 B) 4 01 D) O E) 2

#17. What is the difference between the largest and the smallest y values of the function y=2sin3x ?
A) 3 B) 2 C)6 D) 4 E) 1

#18. If a, is a sequence whose #" term is 2 — 2"V then what is a,?
A32 B4 64 D)8 E)24

#19a If tis a quadratic function that has zercs that are the same distance in opposite directions from the
origin, which of these isf?
A) x* —2x+1 B) x* +1 C) x* +4x D) x” —x F) x* —4

#19b. If fis a quadratic function that has zeros seven units apart, which of these is f ?
A) x* —6x—7 B) x> —8x+7 C) x*+x-17 b} & —8x+12 E) v —=7x+6

#20a. Which of the following lines has slope m%?

e

Ajdx—3y=1  B}4x+3y=6 C) 3x+4y =2 D) 3x—4y =12 E) x+y=—-

i

#20b. Which of the following lines has interceptsat x =3, and y=27?
A) 2x+3y=6 B} 2x—v=6 C)3x-2y=6 D) 2x-3y=6 E) 3x+2y=6




#20c. Which of the following graphs could represent 3x+2y =127

Y

#21a. Which of the following functions contains the points (0,1)and(2,1)?
A)y:2|x—1| B) y=|x+l| C)y:|x~ll D)y=!x—2| ' E)y=|2x—1l

#21b. Which of the following quadratic functions contains the points (-2, 0) and (3, 0)?
A) y=x+x+6 B) y=x"-x—6 C) y=x"+3x-2 D) y=x"+x-6 E}) y=9x"—4

#22a. The curve y =4 intersects the line y =8 at which of the following points?

A (2.8)  B)(48) CO(L8) D) @ 8) E) G 8)

#22b. At which x value(s) does the curve y =x” +2 intersect the line y =67
A) no values B) 4 only C) 4 and —4 D) 2 and -2 E) 2 only

#23a, If 6 =a—b\/§, thena—b=

3443
A) 6 B) 3 C) 9 D)2 E) !
#23b. Where it is define, x—; is equivalent to
x_
A) —L+J~ B} Jx -2 C) J—m+2 D) Jx2 E) L
\/; 2 '\,/—.; ‘\-"[_‘\:‘Fz




#24. Which of the following functions contains the point (g, 2\ ?

J
A) y=2sinx B) y=cscx = () y=tanx D} y=2secx E) y=2cotx
1
s, Y2
k43
)9 4 5 0 5

A) — B) - C by —— E}) -

2 ) ) ) 5 }

#26a. f contains the points (3, 1) and (1, m3). If £~ is the inverse of f, what is the value of /' (f(?a))

1 |
Als 8- O3 D)-1  E)1

#26b. A linear function f has slope 2 and y-intercept 3. What are the slope and y-intercept of its inverse f™'?

A) }uandaB B) -2 andl C) lan-a’—E D) latna’l E) -2 and -3
2 3 2 2 2 3

#27. The line y =3x +lintersects the line y = kx~2 where x =1. What is the value of £ ?
A) 4 B) 7 C) 6 D)1 E) 2

#28a. If (2+i)(3+i) =a-+bi,whatisthe valueof ¢ +5b7?
A} 3 B) 2 C) 10 D) 5 E) 9

H#28b. If (3+i)2 = g+ bi, whatis the value of ¢+ 56 ?
A) 15 B} 8 C) 5 D) 14 E} 16

#29a. Mary's age now is 6 years more than twice the sum of the ages of her two children. In 3 years her age
will be 22 vears less than three times the sum of their ages. How old is Mary now?
A) 32 B} 35 Cy 27 D) 29 E) 26

#29b. Hf Tanya could increase her running speed by 1 mph, shi= could complete a six mile race in 18 minutes

tess time. What is her current rate in mph?
A) 4 B) S €) 3.5 D) 4.5 E)3

#30a. If x—3 isafactorof v +bx =9, then b=
A} O B) 1 C) -3 D) -2 E} 3

#30b. 0f 2x” —cx +3 is divided by x +2, the remainder is —3. What is the value of ¢ ?
A) 5 B) 3 a1 D) 2 E} -3




